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1= 154,677, 382
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1= 154,677, 382
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1= 154, 677, 382
RAT EIAMIEA (1) 138.00m 3, ZAMIBEA(2) 2,352.00m 3. 3EFRIKIEH (1) 118.00m 3,
1= 146, 602, 791 FERARIEH (2) 9,231.00m 3. FERIRILHEK 9,349.00m 3. T4 LE—F(TE (1) 7.00m 3.
TA4ILE—FE(TRE (2) 1,827.00m3, Z4I)L2—[E(TE) EME 1,834.00m3. T4 )L2—E(LRE (1) 10.00m 3.
TaILZ—E(ERE) 2) 7T19.00m3., T J/L2—[E(L[E)EM 729.00m3, T )L2—E(ERE)HLA) 64.00m2,
TALE—E(LEB)HL(Q2) 45.00m2, T4 )LE—FE(LE)HL (3) 668.00m2., FHEYS— FOEEL (1) 89.00m 2,
BrRy > — FOEER (2) 758.00m 2
RET EEHMBEAD 880.00m 3, EIEMIZEAQ 77.00m 3. HIEHEH 957.00m 3
1= 8,074, 591




FEME (EREEE)

[#zt3 (Emas |

% SMOEENINE (FEBK) FE8 (-12n FATE (B3R

B HE &% E
BEEIEE
1= 154, 677, 382
HiEIEE
1= 56, 412, 567
HEBEREE G
1= 15,077, 302
HEBERZE (BL) RitEEE
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1= 819, 790
HEEHE
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1= 243, 850, 000
¥ E I EMHE
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